ilions | 100, 10,000s | 1000s 100s 10s is A prime number
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two milion, five hundred and forty-three thousand, two hundred and forty-one 91 |92 |93 |94 |95 | 9 |57 | 98 [ 99 |1 15 ard 21 are
2 mikons, § hundred thousands, 4 ten thousands, 3 thousands, 2 hundreds, 4 tens and 1 one pr? comimon muttiples
Lty of 3
-24+3=1 5 or more - round up ";.,j.kw
4 oF less - round down oSGt 1
¥y - pe, know.,
r . . Round to the nearest million . e then T also know.
negative positive 2/643,278 —> 3,000,000 2000000 3000000 08x7=8x7+10
Multiplying and dividing by 10, 100 and 1000 42x5=42+2 56,000 < 80 = 700
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( Ten times 3 136 = 10 -
—___ smaller = | 1 ¢ 8 | 6 |moveldits one place right 3339+ 24 = 139r3 =139
> |o¢1|3|g | 35-000 = 13913 ( to 2dp)
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4 4 Reflect the tnangle: 4
(-4, 8) 3 X (4,9) 3 ‘ Translate the triangle in the . ‘
2 2 and in the 2
1 1 _ 1
543217 123 465X 54 34T 123 45X 54 -3-2-17) T23 46X
| -9 =2
(~4,-3) q X (4,-9) -3 W
4 4
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